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1250 fEEIET 3 4 1 2 0 2 1 0 3 3
1260 B R 3E 0 2 0 0 1 1 0 0 2 0
1270 ESHET 1 1 3 4 1 0 1 2 2 0
1280 FRA4HET 5 2 3 0 1 1 1 1 2 1
1290 $RHT 1 2 2 1 1 4 2 5 2 5
1300 & ZEHT 1 0 2 2 1 4 0 0 1 2
1310 KRG HET 1 0 3 0 4 3 3 0 2 2
9999 K HMR X ET 94 96 130 93 101 117 103 85 104 116
1510 &40 _E BT 12 8 11 9 6 11 10 9 15 8
1520 HEAD T HT 5 8 6 14 14 9 12 12 10 12
1530 #EHNTTHET 4 2 3 8 4 5 5 12 1 4
1540 K{EFHT 12 11 4 7 11 4 8 7 5 9
9999 HEHIHR X &t 33 29 24 38 35 29 35 40 31 33
2010 EERHET 2 1 2 2 3 3 1 0 6 3
2020 %= &7EHT 2 1 6 4 2 6 2 6 4 3
2030 B ET 0 0 0 0 0 0 2 4 0 1
2040 LIET—TH 4 2 1 3 2 2 2 2 1 0
2050 ;BT =T H 2 1 0 3 3 0 2 2 4 4
2060 Hg i ET 0 1 1 1 0 1 0 2 1 3
2070 FxET—TH 3 2 4 4 5 5 4 3 3 5
2080 FRETZTH 2 1 2 5 4 3 1 3 2 5
2090 T HET 17 19 19 28 24 22 22 26 29 31
2100 dribHT 4 5 3 2 1 3 2 0 6 8
2110 tEHIETET—T B 5 6 2 3 3 4 4 1 1 5
2120 HEHIFRET—T B 3 6 4 3 0 7 6 4 5 8
9999 £ ERXET 44 45 44 58 47 56 48 53 62 76
2510 FAUEHET 25 25 37 20 25 37 33 23 19 26
2520 K EEHT 23 17 13 21 20 29 20 23 25 13
2530 = /INRHET 9 3 8 7 10 6 2 6 3 7
2540 FFiGHET 6 4 9 9 4 5 6 4 9 5
2550 HHET 1 5 1 1 6 5 3 3 4 7
2560 = EHT 10 6 6 12 12 14 11 13 12 16
2570 K EHT 0 0 0 0 1 0 2 1 0 0
9999 WS X ET 74 60 74 70 78 96 77 73 72 74
3010 K#THT 12 11 11 14 11 15 10 12 11 9
3020 L ;IHT 8 10 14 13 12 15 10 15 14 12
3030 L E7HT 15 11 8 10 13 9 13 12 8 11
3040 S LHET 2 1 2 0 3 1 3 1 2 3
3050 TR HET 29 36 19 31 36 29 28 42 24 23
3060 HES THT 3 7 9 8 8 9 8 5 4 9
3070 tFREHT 7 5 2 3 5 9 4 12 7 9
3080 HHMHT 9 4 6 4 9 4 2 3 2 5
3090 H AT 5 3 6 9 9 4 2 6 2 6
3100 EH I FEHET 8 6 5 6 2 6 7 6 8 9
3110 EHALHET 7 7 7 9 10 11 3 4 9 3
9999 /\FIEF X &t 105 101 89 107 118 112 90 118 91 99
3510 2R _LHT 11 5 1 3 4 6 2 2 0 5
3520 2[R chfT 5 3 7 3 6 3 4 4 6 10
3530 2 H THT 20 16 21 16 12 7 12 19 18 19
3540 ZE R AKHT 3 4 6 12 3 7 2 6 2 7
3550 AEFHT 10 7 12 16 9 14 16 9 18 15
3560 1= FERHT 0 3 1 7 3 4 7 4 8 12
3570 = T FaAT 10 6 11 8 6 14 10 13 12 7
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9010 FTHTAKZEH 8 10 11 8

9020 FTETEEAR 10 3 3 4 6 3 6 3 6
9030 FTHT#H &£ H 11 18 14 16 17 16 14 22 20 17
9040 FTHETHEIH 22 17 17 17 18 25 20 22 13 19
9999 FTHRXET 51 47 45 42 51 55 51 56 44 51
9110 SFRT T HIE 10 8 3 8 6 3 4 10 6 9
9120 $RETH L 6 6 2 1 1 3 2 1 6 6
9130 FFETH B 0 4 4 3 1 2 5 1 3 4
9140 $RET T4t 2 4 10 7 7 5 11 5 6 8
9150 $RHET L§5 4 4 8 10 4 5 6 8 8 11
9160 ZRETEEFT 8 9 10 8 8 16 7 8 11 10
9170 FERTINE 13 9 14 12 17 18 14 14 15 12
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9180 HRHETEE 4 9 10 4 4 11 11 7 10 10
9190 £ERTZ 0 1 0 0 4 2 5 3 4 4 5
9200 $EHETEFIF 1 4 8 5 2 3 4 4 5 3
9210 SEET=E H 6 4 1 7 10 3 3 7 2 10
9220 FEETHH 10 7 9 3 8 4 7 7 13 6
9230 SEHET B M 12 8 9 12 12 12 10 12 9 13
9240 FEETIE K 7 5 2 3 4 4 2 3 3 6
9250 SRETILHTib 5 9 7 10 7 9 9 8 10 11
9999 FHFERXEH 89 90 97 97 93 103 98 99 111 124
9310 HZHTAR 1 2 4 6 5 3 4 5 5 3
9320 H[ZHATAL 7 4 3 1 2 4 7 3 7 3
9330 HSHT/INE 3 1 3 2 2 4 4 2 2 4
9340 H[5HTE 9 6 6 5 2 6 3 4 9 9
9999 RFHRXET 20 13 16 14 11 17 18 14 23 19
9410 RET T & 5 3 7 3 4 6 5 11 5 6
9420 RHETHHE 3 3 1 2 2 2 8 4 2 1
9430 RETEXR 4 0 1 2 1 3 0 1 1 5
9440 RETAEF 0 0 1 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 0 2 0 0 0 0
9460 RET{ZHE 0 0 0 0 0 1 0 1 0 1
9470 RETEXR 0 0 0 0 1 0 0 0 0 1
9480 SRETHEAR 1 1 0 0 0 0 1 0 0 0
9999 RIXXEH 13 7 10 7 8 14 14 17 8 14
99999 & &t 814 762 827 830 830 927 840 874 915 967
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10 HET 2 2 1 6 2 3 2 5 0 1
20 [E-HT 5 3 3 4 2 1 2 0 0 3
30 @HET 3 6 0 4 6 3 8 6 3 3
40 SRHET 5 1 2 0 4 2 2 3 2 2
50 AET—T H 4 6 9 5 7 9 8 9 5 2
60 AET_TH 1 3 1 4 4 9 5 1 3 2
70 KET=TH 3 6 4 6 5 6 3 1 4 5
80 NI HT 4 0 2 1 2 0 2 1 1 2
90 FEHA;TIET 6 2 1 0 2 9 5 9 1 6
100 4t HL.ET 4 2 4 3 3 0 4 3 1 2
110 #¥AJTHT 18 28 12 10 21 19 19 22 14 9
120 ¥4I AHT 0 5 1 1 2 2 3 2 2 1
130 +EFHT 1 7 8 9 7 3 6 8 0 8
140 HBi[E @7 0 0 0 0 0 0 0 0 0 0
150 48 5 #HET 1 5 7 7 5 1 2 4 2 2
9999 KIFHRXEt 57 76 55 60 72 67 71 74 38 48
510 AETEUT B 11 7 14 10 6 6 8 5 5 3
520 tpEEHT 3 1 0 4 2 3 3 1 2 1
530 /\IEHT 3 4 4 4 1 7 5 1 2 3
540 & EHET 7 9 3 3 11 6 8 7 5 3
550 FrithET 5 1 10 2 4 5 7 4 5 2
560 = ZHT 4 1 1 0 0 0 0 0 0 0
570 EEHT 1 1 1 3 2 0 1 1 1 1
580 #rREAET 2 2 4 5 0 3 0 0 4 6
590 FiEHT 1 0 1 5 1 2 0 0 2 2
600 ZEFRHET 14 14 17 9 7 13 6 7 4 3
610 JEHT 1 3 1 5 3 3 6 0 3 1
630 $TERT—TH 0 0 0 0 0 0 0 0 0 0
9999 /\ KXt 52 43 56 50 37 48 44 26 33 25
1010 R HT 4 1 0 8 4 5 3 5 4 1
1020 L FrHET 7 8 5 6 2 5 10 4 2 2
1030 e HET 5 4 4 5 4 2 5 4 3 2
1040 75/ HT 10 6 6 11 6 8 7 8 2 5
1050 = AHET 3 11 13 3 9 11 10 10 4 3
1060 F _EHET 8 2 4 11 8 8 10 6 2 3
1070 t7[RHET 7 10 7 9 6 9 7 9 9 6
1080 & HHET 11 4 2 3 3 6 4 3 4 2
1090 HEHT 6 12 20 12 12 6 5 5 10 3
1100 £ BEHT 8 15 5 9 10 14 6 8 4 6
1110 {EIEMT 4 2 0 1 2 1 2 1 1 5
1120 $g1EJTHT 2 3 1 1 4 0 3 0 1 0
1130 +5:HT 0 0 0 0 1 1 1 1 0 0
1140 FkJRHET 0 0 1 0 0 0 0 0 0 1
1150 #/RET—T B 1 2 2 2 2 8 3 3 4 1
1160 #[RET_TH 4 7 2 4 6 6 3 5 1 1
1170 ;E7KHET 1 4 1 3 5 2 3 1 1 1
1180 EE&HLHET 1 3 3 3 7 5 3 3 5 8
1190 #&F AHT 2 4 4 3 3 5 3 9 0 1
1200 XFHET—TH 3 4 3 3 1 1 2 2 1 0
1210 XFHETZTH 1 2 2 3 8 2 6 4 0 1
1220 #rHET 1 3 3 3 0 2 5 6 1 3
1230 #KHET 2 2 1 1 7 4 4 1 5 2
1240 EEHT 0 0 1 0 3 2 2 2 2 3
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1250 fEEIET 1 0 0 1 2 3 5 3 1 0
1260 fEF R & 2 0 0 0 2 1 1 0 1 1
1270 FEEHT 3 2 3 0 1 5 1 1 0 0
1280 FRA4HET 3 6 3 2 2 2 3 0 2 1
1290 $RHT 2 4 2 3 1 7 3 2 2 2
1300 & ZEHT 0 0 0 3 3 5 3 1 1 2
1310 K/LHET 1 0 1 1 0 1 2 0 1 1
9999 K HMR X ET 103 121 99 114 124 137 125 107 74 67
1510 KEHD_EET 7 12 7 16 12 7 9 12 9 7
1520 HEAD T HT 10 10 14 17 22 14 14 12 9 13
1530 #EHNTTHET 5 6 6 5 4 6 6 9 4 6
1540 K{Z=FH] 12 8 14 11 9 9 11 14 3 7
9999 HEMIFZ X &Y 34 36 41 49 47 36 40 47 25 33
2010 EERHET 2 0 1 2 4 6 7 3 2 0
2020 %= &7EHT 2 4 3 1 3 1 3 5 2 2
2030 B ET 0 0 0 0 1 3 0 1 0 0
2040 LIET—TH 2 2 5 2 2 5 4 6 3 3
2050 JMET=TH 2 3 2 3 5 4 3 4 3 4
2060 Hg i ET 1 1 0 0 0 2 2 0 0 0
2070 FxET—TH 3 2 5 8 4 3 3 3 2 0
2080 FRETZTH 1 2 3 4 2 5 8 2 3 3
2090 T HET 33 32 35 28 38 35 34 33 19 21
2100 dribHT 2 6 1 4 2 8 4 5 1 2
2110 tEHIETET—T B 5 7 4 8 2 6 5 3 3 2
2120 HEHIFRET—T B 5 0 4 5 6 6 2 9 3 3
9999 £ ERXET 58 59 63 65 69 84 75 74 41 40
2510 FAUEHET 31 29 34 20 37 27 39 34 23 21
2520 K EEHT 18 16 22 17 22 21 17 8 15 10
2530 = /INRHET 5 9 4 5 5 6 7 6 3 3
2540 FHiGHT 9 9 16 6 15 12 10 9 8 10
2550 ;HHET 3 5 2 5 2 3 3 2 3 3
2560 = ST 16 12 18 18 20 22 10 21 11 13
2570 K EHT 1 3 2 3 0 4 5 1 0 0
9999 WS X ET 83 83 98 74 101 95 91 81 63 60
3010 KATHT 12 15 21 14 15 21 22 15 16 8
3020 B+ THT 10 15 20 10 18 16 18 26 6 6
3030 L E7HT 12 10 16 10 9 12 13 12 5 11
3040 S LHET 4 2 3 1 0 1 1 4 3 0
3050 TR HET 34 26 30 25 35 35 35 28 16 22
3060 HES THT 4 6 5 4 18 10 8 10 4 7
3070 HER/EAT 5 10 4 9 13 8 4 6 7 11
3080 HHMHT 4 2 3 2 8 8 6 7 2 2
3090 H AT 1 7 5 6 5 8 4 4 3 3
3100 EH I FEHET 9 8 7 5 5 4 3 3 3 6
3110 EJLET 8 9 7 12 10 9 9 9 2 8
9999 /\FIEF X &t 103 110 121 98 136 132 123 124 67 84
3510 2R AT 1 2 2 3 2 5 2 5 4 2
3520 2[R chfT 8 6 4 3 5 9 8 3 7 4
3530 2 H THT 13 19 16 22 13 15 14 14 7 11
3540 ZE R AKHT 5 9 9 8 9 9 5 6 8 1
3550 AEFHT 14 19 15 9 15 14 20 15 10 8
3560 1= FERHT 3 9 4 3 8 6 5 5 3 5
3570 = T FaAT 20 12 13 12 25 28 11 9 14 13
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3580 F(LIFHT
3590 jEHT

9999 FHKXET
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4020 {5 HT
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4050 7K EHT

4060 BEZ % HHET
4070 Jb/RHET

4080 =;T;HMT
4090 Ff ek BT

4100 wgFFNET
4110 dtEF0ET
9999 ERIBXEt
4510 AREE—ZHT
4520 BREE _FEHET
4530 EREE=ZHT
4540 EREEUEEHET
4550 EREE R FHET
4560 BREE/FEHET
4570 EREE-EFEHET
4580 BREE/\FEHET
4590 EREE N FEHT
4600 EREE+ZEHET
4610 EREE+—ZHET
4620 BREE+ —ZFHET
9999 EREERIX 5T
5010 R FN B HEET
5020 RZF0EREAET
5030 FRFN[E{ZHT
9999 MAFNRXET
5510 & R HET

5520 = HhET

5530 8= HT

5540 T EEHT

5550 FHET
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6020 [ZET
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6040 iz FHET
6050 JI|EHATER
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6510 B & A#HGAET
6520 HE A KILHET
6530 HE= A FTHHET
6540 HEALLTHET
6550 H &R AT 2 NET
6560 HZ=ALEILHET
6570 B = AEFHT
6580 HZAEHET
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